


Big condition numbers are bad while small condition numbers are good
and allow the forward error to be easily bounded in terms of the
backwards error...  in our case c was less than one...   that's good and
we obtained a precise estimate on the forward error...

The condition number actually tells something about how accurately a
problem can be solved no matter what method is used...be it Newton's
method or some of other method...

Since residual r can be calculated, at best, to 15 digits of precision,
one can't tell the difference numerically between two approximations
of x for which the residuals agree to 15 digits.



so many digits that the first 50
must be correct

Thus r is at best something like 1e-15.

But if c is big, for example, 1e8, then the bound on the forward error
becomes...

In this case the forward error can't be computed to better than 7
digits accuracy, since the condition number is so large...



Clever way of adding numbers so that one gets an accurate answer
no matter what order is used...



Printing a million lines takes too long...and all that scrolling...

Note that sometimes ctrl-c doesn't work to stop the calculation,
especially when no printing is involved, and one has to resort to
more drastic measures...

That is apparently one of the tradeoffs for being both free and
just-in-time compiled...


